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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 212 3.3 1.8 6 54.7 94.2
2 210 3.2 2.3 8 40.4 93.3
3 217 3.4 1.9 8 43 96.4
4 219 5.6 2.5 12 46.3 97.3
5 218 7.3 3.5 16 45.5 96.9

SPaG 218 2.6 0.8 3 85.6 96.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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QUESTION 4


	 This question is about the changing lives of women.


	 Explain the connections between any THREE of the following:	 [12]


	 •	 Employment opportunities
	 •	 The Women’s Liberation Movement
	 •	 The Equal Pay Act
	 •	 The Sex Discrimination Act


	 Your three choices:


	 •	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 


	 •	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 


	 •	 . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . 
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Question 5 
 
Mark allocation: AO1  AO2 AO3 AO4 SPaG 


19 4 
  


12 3 
 
Question:  How far do you agree with this interpretation of the 


reasons for industrial unrest in Wales in the 1970s? 
 [16+3] 
 
Band descriptors and mark allocations 
 


 AO1 4 marks  AO4 12 marks 
BAND 4 Demonstrates very 


detailed knowledge 
and understanding of 
the key feature in the 
question. 


4 BAND 4 
 


Fully analyses and evaluates how 
and why interpretations of this 
issue differ, demonstrating 
awareness of the wider historical 
debate over the issue. A well 
substantiated judgement about 
the accuracy of the interpretation 
is reached, set within the context 
of the historical events studied. 
The relevance of the authorship 
of the interpretation is discussed. 


10-12 


BAND 3 Demonstrates detailed 
knowledge and 
understanding of the 
key feature in the 
question. 


3 BAND 3 
 


Analyses and evaluates how and 
why interpretations of this issue 
differ. Some understanding of the 
wider historical debate over the 
issue is displayed. A clear 
judgement is reached, displaying 
understanding of how and why 
interpretations of the issue may 
differ. Appropriate reference is 
made to the authorship.  


7-9 


BAND 2 
 


Demonstrates some 
knowledge and 
understanding of the 
key feature in the 
question. 


2 BAND 2 
 


Some analysis and evaluation of 
the interpretation and other 
interpretations is displayed. A 
judgement is reached with 
superficial reference made to 
authorship. 


4-6 


BAND 1 
 


Demonstrates basic 
knowledge and 
understanding of the 
key feature in the 
question. 


1 BAND 1 
 


Makes simple comments about 
the interpretation with little 
analysis or evaluation. Little or 
no judgement reached. 


1-3 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 
• the interpretation of the author is that the industrial unrest of 1978-9 (the “Winter of 


Discontent”) was caused by Prime Minister James Callaghan by announcing limits to pay 
rises; 
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• to an extent this interpretation accurately reflects the role that government pay restraint 
played in causing industrial unrest in the 1970s, not just by Callaghan in 1978 but under 
Conservative prime minister Edward Heath in 1972 as well; 


• evidence that can be used to form such an interpretation includes the Conservative 
government’s attempts to limit the miner’s pay rise in 1972 to 8% when they asked for 47%, 
or attempts to make wildcat strikes illegal which were largely ignored leading eventually to 
the Three Day Week, the 1974 “Who Governs?” snap election and the fall of the 
Conservative government; the incoming Labour government had repealed the Conservatives 
law on wildcat strikes in return for a voluntary 10% limit on pay rises; they failed to have this 
lowered to 5% in 1978 in the face of demands of 15% from Ford workers and then 30% by 
lorry drivers; 


• however there is a wide range of historical debate over the issue; it is possible to arrive at 
different conclusions about the causes of industrial unrest in the 1970s in Wales; 


• some might argue that it was the failure of the government to get inflation which peaked at 
25% under control that forced workers to strike demanding higher wages as prices were 
rising so quickly during the decade, others might say it was the militancy of the trade unions 
who encouraged workers to strike or who encouraged workers in their own union to strike 
inspired by the action of others, for example the miners’ strike in Wales and the rest of the 
UK leading to the electricity worker’s strike of 1973 or the Ford workers strike in Bridgend 
and other parts of the UK in the autumn of 1978 leading to the lorry drivers strike of the 
winter of 1978/9; 


• other interpretations may suggest that the fault lay in international economic circumstances 
beyond the government’s control such as the mid-1970s oil crisis, or the militancy of the 
trade unions who put the narrow interests of their members before the national interest, or 
even more specifically the activism of shop stewards who called a large number of wildcat 
strikes without consulting national unions at all; 


• the extract reflects a Marxist/left-wing trade union view that is supportive of working class 
interests and candidates may assert that this is an extremely biased view as a result, shifting 
the blame away from the unions and on to the actions of the government; it was the unions 
who broke the voluntary pay restraint of 10% that had been agreed with the government in 
1975. 


 
After awarding a level and mark for the historical response, apply the performance descriptors for 
spelling, punctuation and the accurate use of grammar (SPaG) and specialist language that 
follow. 
 
Having decided on a band, award a second mark (out of 3) for SPaG. In applying these 
indicators: 
- learners may only receive SPaG marks for responses that are in the context of the demands 


of the question; that is, where learners have made a genuine attempt to answer the question 
- the allocation of SPaG marks should take into account the level of the qualification. 


 
Band Marks Performance descriptions 
High 3 • Learners spell and punctuate with consistent accuracy 


• Learners use rules of grammar with effective control of meaning 
overall 


• Learners use a wide range of specialist terms as appropriate 
Intermediate 


 
2  • Learners spell and punctuate with considerable accuracy 


• Learners use rules of grammar with general control of meaning 
overall 


• Learners use a good range of specialist terms as appropriate 
Threshold 1 • Learners spell and punctuate with reasonable accuracy 


• Learners use rules of grammar with some control of meaning and 
any errors do not significantly hinder meaning overall  


• Learners use a limited range of specialist terms as appropriate 
 0 • The learner writes nothing 


• The learner’s response does not relate to the question 
• The learner’s achievement in SPaG does not reach the threshold 


performance level, for example errors in spelling, punctuation 
and grammar severely hinder meaning 
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		Question:  Why were the liberal reforms of the permissive society significant in changing people’s attitudes in the 1960s?

		Question:  Why were the liberal reforms of the permissive society significant in changing people’s attitudes in the 1960s?

		[12]

		[12]

		Use 0 for incorrect or irrelevant answers.

		Use 0 for incorrect or irrelevant answers.












Sticky Note

Some specific knowledge deployed to illustrate a point AO1. 



Sticky Note

More specific knowledge deployed to support argument being made, suggesting AO1 Band 3 or 4.







Sticky Note

Detailed knowledge deployed to illustrate the counter argument suggesting AO1 Band 4.



Sticky Note

More detailed contextual knowledge, suggesting AO1 Band 4.



Sticky Note

Another point of view, part of the wider historical debate, is considered in this paragraph suggesting at least AO4 Band 2.



Sticky Note

Further exploration of alternative views to the one given in the question, supported by contextual knowledge, suggesting at least AO4 Band 3.







Sticky Note

Full SPaG marks for a fully relevant answer that is well written and well structured.



Sticky Note

Another example of detailed knowledge to support a point being made.



Sticky Note

Specific contextual knowledge deployed several times in this response to support points being made. AO1 Band 4.



Sticky Note

The authorship of the source is considered in reference to the view in the question, suggesting at least AO4 Band 3.



Sticky Note

There is a strong investigation of how and why views on this topic can differ and a clear judgement is reached. This response is AO4 Band 4.







Sticky Note

Further comments on the validity of the interpretation are offered, suggesting AO4 Band 3 or 4.



Sticky Note

A final judgement on the question, taking into account many of the points made throughout the response, suggesting a high band mark for AO4.
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QUESTION 5


	 This question is about political and economic problems.


	 Read the interpretation below and then answer the question which follows.


The “Winter of Discontent” was sparked off by James Callaghan, Labour prime minister. 
He announced more limits to pay rises. The prime minister had misjudged the mood of 
the workers who had reached their limit and were not prepared to do as they were told 
any longer. The trade unions rejected the government’s wage policy in September 1978. 


[An extract from an article about the history of trade unions on the website marxist.com 
published in 2003. This website supports the interests of working class people]


	 How far do you agree with this interpretation of the reasons for industrial unrest in Wales in the 
1970s? 	 [16]


	 [In your answer you should refer to how and why interpretations of this issue differ. Use your 
own knowledge and understanding of the wider historical debate over this issue to reach a well-
supported judgement.]


	 Marks for spelling, punctuation and the accurate use of grammar and specialist language are 
allocated to this question.	 [3]
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MARK SCHEME 
 


UNIT 1: STUDY IN DEPTH – WALES AND THE WIDER PERSPECTIVE 
 


1D. AUSTERITY, AFFLUENCE AND DISCONTENT, 1951-1979 
 
 
Question 1 
 
Mark allocation: AO1 AO2 AO3  AO4 


4 
 


 4 
 


 
Question:  What can be learnt from Sources A and B about 


Commonwealth immigration? [4] 
 
Band descriptors and mark allocations 
 


 AO3 4 marks 
 


BAND 2 
 


Analyses and uses the content of both sources for the enquiry.  
If answer is imbalanced in use of sources award 3 marks. 
 


3-4 


BAND 1 
 


Generalised answer with little analysis, paraphrasing or describing sources 
only. 


1-2 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 
• Source A shows the jobs the Commonwealth immigrants could do in the UK, such as 


working as a conductor on London buses; 
• Source A is an example of how some UK businesses like London Transport recruited 


immigrant workers from the Commonwealth; 
• Source A shows that Commonwealth immigrants could come from the West Indies, and 


that they could be women as well as men; 
• Source B shows how life in India was difficult, especially when it came to making money; 
• Source B shows how much more money people from India could make if they went to 


work in the UK and that life for these people would be much better when they finally 
returned to India; 


• both sources show how employment was a very important reason for Commonwealth 
immigrants to come to live in the UK in this period. 
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		Use 0 for incorrect or irrelevant answers.
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Sticky Note

Basic observation from the attribution of  Source A AO3 Band 1.



Sticky Note

A more specific observation about Source A suggesting AO3 Band 2.



Sticky Note

First observation from Source B AO3.



Sticky Note

Another specific observation from Source B AO3.



Sticky Note

Overall awarded AO3 4 marks as there are two reasonable observations about the topic from each source.



Sticky Note

Own knowledge is not credited in this response as there are only marks for AO3.
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Answer all questions.


QUESTION 1


	 This question is about immigration.


	 Study the sources below and then answer the question which follows.	


	 Source A


Life in India is a struggle. People who have been to England come back rich. Families 
who have daughters to marry off rush to meet them. They send money home each month 
and still afford to buy a fine house in India. If they can do all this I can do the same.


[A photograph of a bus conductor for London Transport taken in 1962. 
Mrs Hart was from the West Indies]


	 Source B


[An immigrant from India, in a newspaper interview in 1971]
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	 What can be learnt from Sources A and B about Commonwealth immigration?	 [4]
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Question 2  
 
Mark allocation: AO1  AO2 AO3  AO4 


6 2  4 
 


 
Question:  To what extent does this source accurately explain the 


way that young people listened to music in this period?
 [6] 


 
Band descriptors and mark allocations 
 


 AO1 2 marks  AO3 4 marks 
 


   BAND 3 
 


Analyses and evaluates the 
accuracy of the source, set within 
the context of the historical 
events studied. The strengths and 
limitations of the source material 
are fully addressed and a 
substantiated judgement is 
reached.  


4 


BAND 2 
 


Demonstrates 
detailed 
understanding of the 
key feature in the 
question. 


2 BAND 2 
 


Begins to analyse and evaluate 
the source. A judgement, with 
some support is reached, 
discussing the accuracy of the 
source material set within the 
historical context. 


2-3 


BAND 1 
 


Demonstrates some 
understanding of the 
key feature in the 
question. 


1 BAND 1 
 


Very basic judgement reached 
about the source with little or no 
analysis or evaluation. 


1 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 
• the source does correctly identify that many young people did go to coffee bars to listen 


to music on juke boxes; 
• coffee bars like the 2is or the Kardomah were popular locations for young people to 


gather to listen to rock n roll records by American artists like Bill Halley and Elvis Presley, 
in the first instance but later on to British artists like Cliff Richard and the Shadows; 


• however the source is very judgemental about the level of noise in the coffee bar and 
does not show any appreciation of why it would be an attractive environment for young 
people; 


• the source is clearly limited by the bias of the author who as an adult and writing for an 
older audience is highly critical of this new teenage interest; 


• the source is also limited because it is focused on coffee bars in the 1950s but does not 
consider other ways of listening to music that developed in the 1960s and 1970s – 
discotheques, festivals, transistor radios, Walkman’s etc. 
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Sticky Note

Specific use of relevant own knowledge about both the music that young people listened to and how they listened to it suggesting AO1 Band 2.



Sticky Note

Further specific relevant knowledge about the different ways that young people listened to music in this period suggesting AO1 Band 2.



Sticky Note

An initial judgement is made in response to the question AO2.







Sticky Note

AO2 considering the strengths of the source based on its attribution. 



Sticky Note

Some limitations of the source based on its attribution suggesting AO3 Band 2 or 3.



Sticky Note

AO1 Band 2 2 marks for several detailed and relevant uses of supporting contextual knowledge.



Sticky Note

AO3 Band 3 4 marks as a judgement as to the extent of the accuracy of the source was made at the beginning of the response and was then justified by an explanation of both strengths and limitations of the source.
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QUESTION 2


	 This question is about popular entertainment.	


	 Study the source below and then answer the question which follows.


	 Source C


The music is so loud that conversation would have little chance of survival. The ladies 
and gentlemen who frequent these places are mostly between the ages of fourteen 
and twenty. The music is provided by a device known as a ‘juke-box’ and the music 
comes from loud speakers. There was a relentless throb of music rebounding from 
every wall – I found it very sad. 


[Alex Atkinson, a journalist writing in an article about London coffee bars in Punch magazine 
published in 1956. Punch was aimed at older readers]


	 To what extent does this source accurately explain the way that young people listened to music 
in this period?	 [6]


	 [In your answer you should refer to the strengths and limitations of the source and use your own 
knowledge and understanding of the historical context.]
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Question 3 
 
Mark allocation: AO1  AO2 AO3 AO4 


12 4 8   
 


Question:  Why were the liberal reforms of the permissive society 
significant in changing people’s attitudes in the 1960s?  


  [12] 
 
Band descriptors and mark allocations 
 


 AO1 4 marks  AO2 8 marks 
 


BAND 4 Demonstrates 
comprehensive 
knowledge and 
understanding of the 
key feature in the 
question. 


4 BAND 4 
 


Fully explains the issue with clear 
focus set within the appropriate 
historical context. 
 
 


7-8 


BAND 3 Demonstrates 
detailed knowledge 
and understanding of 
the key feature in the 
question. 


3 BAND 3 
 


Explains the issue set within the 
appropriate historical context. 
 
 


5-6 


BAND 2 
 


Demonstrates some 
knowledge and 
understanding of the 
key feature in the 
question. 


2 BAND 2 
 


Begins to explain the issue with 
some reference to the appropriate 
historical context. 


3-4 


BAND 1 
 


Demonstrates basic 
knowledge and 
understanding of the 
key feature in the 
question. 


1 BAND 1 
 


Mostly descriptive response with 
limited explanation of the issue. 
 


1-2 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 


• the liberal reforms of the permissive society were very important in changing people’s 
lives in the 1960s; 


• the relaxation of censorship following the 1959 Obscene Publications Act, as well as high 
profile obscenity trials like Lady Chatterley’s Lover and Oz magazine; 


• the abolition of the death penalty in 1965 after a number of high profile miscarriages of 
justice like the Derek Bentley case; 


• the legalisation of homosexuality with the Sexual Offences Act meant that men aged 21 
and over who were gay no longer needed to hide their feelings or risk blackmail or 
having their reputations ruined; 


• candidates may also consider relevant changes from other areas of the specification 
such as making the contraceptive pill available on the NHS from 1961, the legalising of 
abortion in 1967 and the 1969 Divorce Act and the impact that these changes had on 
relationships and family life; 


• while there was a lot of opposition from some groups in society, the Labour minister 
responsible for many of these changes (Roy Jenkins) considered that they were part of a 
programme to make the UK more of a “civilised society” and formed part of the shared 
values of people who lived in the UK in the 1960s. 
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Sticky Note

AO1 specific knowledge deployed.



Sticky Note

AO1 specific knowledge deployed again suggesting at least Band 2.



Sticky Note

Beginning to address the significance of these changes suggesting at least AO2 Band 2.



Sticky Note

Further point addressing the significance of this change AO2.



Sticky Note

AO1/AO2 some reference to the historical context of these changes.







Sticky Note

Specific knowledge deployed to support an argument again, suggesting at least AO1 Band 3.



Sticky Note

Further specific knowledge suggesting a high band for AO1.



Sticky Note

Once again specific contextual knowledge deployed in support of an argument suggesting AO1 Band 4.



Sticky Note

Again, specifically explaining the significance of this change in context, suggesting at least AO2 Band 3.



Sticky Note

Again addressing the significance of how this affected people's attitudes AO2.



Sticky Note

AO1 Band 4 as detailed and specific contextual knowledge deployed in support of the argument throughout.



Sticky Note

AO2 Band 4, considering the answer as a whole, there are several clear attempts to explain the significance of the issue in the question in context and in detail, if not fully or consistently sustained. 







Sticky Note

This is not relevant to this question.
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QUESTION 3


	 This question is about changing attitudes to authority.


	 Why were the liberal reforms of the permissive society significant in changing people’s attitudes 
in the 1960s?	 [12]
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Question 4 
 
Mark allocation: AO1  AO2 AO3 AO4 


12 2 10  
 


 
Question:  Explain the connections between any THREE of the 


following: [12] 
• Employment opportunities 
• The Women’s Liberation Movement 
• The Equal Pay Act 
• The Sex Discrimination Act 


 
Band descriptors and mark allocations 
 


 AO1 2 marks AO2 10 marks 
   BAND 4 


 
 


Fully explains the relevant 
connections between the chosen 
features, set within the correct 
historical context. 


8-10 


   BAND 3 
 


Explains the connections 
between the chosen features, set 
within the correct historical 
context. 


5-7 


BAND 2 
 


Demonstrates 
detailed knowledge 
and understanding of 
the key features in the 
question. 


2 BAND 2 
 


Begins to explain the connections 
between the chosen features. 


3-4 


BAND 1 
 


Demonstrates some 
knowledge and 
understanding of the 
key features in the 
question. 


1 BAND 1 
 


A basic, unsupported explanation 
of connections between the 
chosen features. 


1-2 


 
Use 0 for incorrect or irrelevant answers. 
 
Indicative content 
 
This content is not prescriptive and candidates are not expected to refer to all the material 
identified below. Some of the issues to consider are:  
 
All the features mentioned were important aspects of the changing lives of women; 
connections identified may include:  
 


• the employment opportunities were connected to the Women’s Liberation Movement 
because being able to leave the home and family behind to work began to show 
women that there was more to life than family and the home and the Women’s 
Liberation Movement promoted the idea that women should be free to have their 
own distinct identity and issues and not just be “wife” or “mother”; 


• The Equal Pay Act was connected to employment opportunities because these new 
jobs that were open to women meant better pay and more money than they had 
been paid previously but they could still see that in the workplace men were being 
paid much more for doing the same job; this led to demands for equal pay which 
was granted by the Equal Pay Act; 
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• The Equal Pay Act was connected to the Women’s Liberation Movement because 
women campaigned to be treated equally to men; one of the areas where women 
were not treated equally was when they were not paid the same as men for doing 
the same work; this was the issue behind the 1968 Dagenham strike which 
motivated Barbara Castle to have the Equal Pay Act passed; 


• the Women’s Liberation Movement was connected to the Sex Discrimination Act 
because they were campaigning for equal treatment and opportunities for women 
which at the time were not legally guaranteed; the Sex Discrimination Act said that 
women could not be discriminated against or treated differently on the grounds of 
their gender; it even opened up more education possibilities as girls could not be 
forced to study different subjects from boys if they did not want to; 


• The Sex Discrimination Act was connected to the Equal Pay Act because having 
established that women should be paid the same as men for doing the same job 
there was still discrimination in jobs as many men did not think that women were 
capable of doing certain jobs; this law meant that men and women had to be treated 
equally in terms of job opportunities as well as pay; 


• employment opportunities was connected to the Sex Discrimination Act as women’s 
education improved and jobs became more based around service industries and 
administration, and less the traditional male-oriented jobs like mining and ship-
building; as more women went to work in these jobs it became more and more clear 
that they were being passed over for promotions or offered lesser jobs even if they 
were qualified for better ones; the Sex Discrimination Act was intended to end this 
discrimination in employment in particular. 
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Sticky Note

First connection clearly identified.



Sticky Note

Specific knowledge deployed in support of a point suggesting AO1 Band 2.



Sticky Note

A general rather than a specific explanation suggesting AO2 Band 2.



Sticky Note

An implied rather than a stated explanation for the connection, suggesting AO2 Band 1 or lower Band 2.







Sticky Note

Second connection is clearly identified. 



Sticky Note

A third connection is identified even though this is not required in answer to this question. The question requires three factors to be connected (Women's Lib to Equal Pay/Equal Pay to employment opportunities), but not three connections to be identified.



Sticky Note

AO1 specific knowledge again deployed to support a point suggesting Band 2.



Sticky Note

Further specific knowledge deployed to support a point.



Sticky Note

AO1 Band 2 as several pieces of specific contextual knowledge deployed to support the points being made.



Sticky Note

Attempted explanation of connection but not really focused on "employment opportunities".



Sticky Note

Further explanation, still quite general, AO2 top Band 2.



Sticky Note

AO2 Band 3 lower mark as several general attempts to explain the connections in context with varying degrees of focus on the question set.











